




In each of the questions given below few words 

are given in bold. These five words may or may 

not be in their correct position. The sentence is 

then followed by options with the correct 

combination of words that should be 

interchanged with each other in order to make 

the sentence grammatically and contextually 

correct. Find the correct combination of the 

words that should replace each other.



India’s security (A) footprint in West Asia has 

seen a (B) steady increase, and energy 

security and safe (C) passage of sea routes 

are one of the main (D) driving factors.

1. (A) – (D)

2. (B) – (C)

3. (D) – (C) and (B) – (A)

4. (A) - (D) and (B) -(C)

5. No interchange required.



For all appearances, the (A) consumer intent 

of this new set of rules is to put in place a (B) 

mechanism redressal (C) grievance for the end 

user or (D) overarching of social media and 

over-the-top (OTT) platforms and the digital 

news web (E) portals.

1. (A) – (E)

2. (B) – (C)

3. (A) – (D) and (B) – (C)

4. (A) - (D) and (B) -(E)

5. No interchange required.



While joint (A) exercises in West Asia between 

Arab states and their western (B) showcases 

is common, the 2021 edition’s (C) involvement 

of contingents from India and South Korea (D) 

counterparts the growing interests of Asian 

economies.

1. No interchange required.

2. (B) – (C) and (A) - (D)

3. (B) – (D)

4. (A) - (D) and (B) -(C)

5. (A) – (B)



The fate, or the (A) petitions shape, of the (B) 

notification will depend on the way the two (C) 

final already filed against it in courts in Kerala 

and Delhi are (D) decided upon.

1. (A) – (B) and (C) - (D)

2. (B) – (C)

3. (A) – (C)

4. No interchange required

5. (A) - (D) and (B) - (C)



Last week he blamed(A)an intelligence report 

that released(B) the kingdom’s crown prince, 

Muhammad bin Salmon, for the murder of a 

journalist .But at that point Mr. Biden’s ideals 

collided(C)with America’s national interest. 

The prince may be a brute, but he is also in 

charge (D) of an important American ally.

1. A-B

2. B-C

3. C-D

4. D-A



Andhra Pradesh had promised(A) a similar law 

in 2019, and the Madhya Pradesh CM has 

passed(B) one to reserve some private sector 

jobs. Haryana’s law could face legal(C) 

challenges like AP’s did, as it ostensibly 

flies(D) in the face of the Constitution, 

especially Article 19(1) (g) and Article 16(2) .

1. A-B

2. B-C

3. C-D

4. D-A



Chief Minister Mamta Banerjee has detected(A) 

out new welfare schemes and titled(B)out to 

regions and social groups that reached(C) 

towards the BJP. By declaring her candidacy 

from Nandigram, where she will take on former 

colleague Suvendu Adhikari who rolled(D) to the 

BJP, she has shown that she is on the offensive

1. A-B

2. A-D,B-C;

3. A-C,B-D;

4. D-A



The corona virus has killed (A) over 2m 

people, infected many millions more and 

compelled (B) governments around the world 

to lock down their populations. The rapid 

optimism (C) of vaccines does at least offer 

some grounds for development(D).

1. A-B

2. B-C

3. C-D

4. D-A

5. No correction required



The RBI had virtually regulated (A) crypto 

currency trading in 2018 and had asked(B)all 

entities banned(C) by the central bank to 

cease dealing in virtual currencies. The 

Supreme Court had also directed (D) the 

Centre in 2019 to frame policies for crypto, and 

in 2020, struck down the curbs imposed by the 

RBI.

1. A-B

2. A-D, B-C;

3. A-C, B-D;



Indian users’ data controlled (A) through use of 

the internet as well as social media platforms, 

must be generated (B) and owned (C) by 

Indian people and not by corporates, 

especially (D) global corporations

1. C-E

2. A-C

3. C-D & B-C

4. A-B

5. No interchange required



A full stack language (A) must be well-versed 

in several programming developer (B) and 

approach software development historically, 

since he must experience (C) to both the user 

cater (D) and to functionality.

1. B-D

2. A-B & C-D

3. C-D

4. A-B

5. No interchange required



It has long been recognized that sedition (a) 

criticism of the government will not amount to an 

attempt to excite disaffection and disloyalty towards 

the government. Yet, the intemperate (b) and 

colonial view that an archaic(c) attack on an 

incumbent ruler should be met with fierce 

prosecution for strident (d) prevails among many in 

power even today.

1. (a-b) (d-c)

2. (a-c) (b-d)

3. (a-d) (b-c)

4. (a-c)



In the following questions, there are two 

statements in each question. Each sentence 

has two highlighted words which may or may 

not be contextually or grammatically incorrect. 

Find the correct combination(s) of words which 

must be interchanged to make both the 

sentences grammatically and contextually 

correct.



a)It was stated that a court of enquiry had 

brushed (A)that it was a loss of power in the 

helicopter at a critical point after takeoff which is 

said to have ascertained (B) a forced landing.

b) The reason for the loss of power could not be 

necessitated (C), however, any doubts 

surrounding the capability of the Mi17 

helicopters, has been deduced (D) aside by the 

Indian Air Force.

1. Only (B-C)

2. Both (A-B) and (C-D)

3. Both (A-D) and (B-C)



a)The software program and application are regularly 

updated and improved, computer gathers faster 

processing powers, becomes more resistance (A)and 

even classroom opinion poll can now be taken quickly 

and anonymously(B).

b) Armed with a poster illustrating farming techniques, 

she talks to her neighbours and her husband 

Mandilimana about drought versatile (C) crops and 

techniques to revitalize (D) the soil.

1. Both (A-B) and (C-D)

2. Only (A-D)

3. Only (C-B)



a)In the case of natural resources, where the optimal 

rate of extraction is as important as the dismantling 

(A)of revenue from the source with the government, so 

that the economy gets sufficiently derived (B) before 

the resource that exhausted.

b) Bioremediation of old waste is the process of 

retention (C) old best heaps, so sieving the material to 

recover bio-Earth and refuse diversified (D) fuel which 

can be used as heating material in cement kilns.
1. Both (A-B) and (C-D)

2. Both (A-C) and (B-D)

3. Only (C-D)

4. Only (B-D)



a)The ceaseless contraction in the core sector is 

clearly rapprochement (A)of the meager (B) demand 

conditions for manufactured goods and services.

b) An approach that shows genuine remorse for the 

actions, bring the culprits to book seek denotative (C) 

with the Konyak Nagas through compensation for 

violence, besides a renewed purpose to conclude the 

peace talks with the Naga group is now the only 

imperative (D).

1. Both (A-D) and (B-C)

2. Both (A-B) and (C-D)

3. Only (B-C)



(I) The Tamil Nadu education department has (A) 

directed that all (B) working and higher secondary 

schools in the government sector install complaint 

boxes on (C) complaints for students.

(II) The education department has been (D) 

elementary to raise awareness (E) among 

students and has asked them to file (F) campus if 

they are harassed in school.

1. B-F

2. C-F

3. A-D

4. B-D



(I) While (A) boycott the news of her (B) demise, 

daughter Justine Jagoda said that her mother was a 

"sparkling actress with (C) impeccable comedic timing.

(II) Asim Iftikhar has criticised the US, UK, Australia 

and Canada for (D) announcing a diplomatic (E) 

confirming of the Beijing Winter Olympics 2022, saying 

that Pakistan "opposes any form of (F) politicization of 

sports.

1. A-D

2. B-E

3. C-F

4. A-E



(I) The accused is (A) facing 17 criminal cases, as per 

reports. The inspector had reportedly (B) shot in the air 

as a warning (C) before shooting the accused.

(II) Over 80 people are (D) feared dead after tornadoes 

hit six US states, in what President Joe Biden called 

"one of the (E) largest tornado outbreaks" in the 

country's (F) history”.

1. A-F, C-E

2. B-D

3. B-E, C-F

4. A-E

5. No interchange needed



(I) Higher inflation and (A) wider current account 

deficit, which are the side effects of the loose 

policies (B) leading to push growth during the (C) 

caused, will come into play, forcing the RBI to 

act.

(II) The tornado (D) pandemic both sides of a 

building to (E) collapse inwards, (F) adopted the 

roof to fall.

1. C-E

2. B-F, A-D

3. C-D, B-F

4.
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